Tableaux des Puissances de Dix (D)

Multipliez ou divisez le nombre de la rangée par celui de la colonne.
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Tableaux des Puissances de Dix (D) Solutions

Multipliez ou divisez le nombre de la rangée par celui de la colonne.

X 0,5 500 50 000 5000
32 16 16 000 1600000 160 000
63 31,5 31500 3150 000 315000
15 7,5 7 500 750 000 75000

2 1 1000 100 000 10 000
56 28 28 000 2800000 280 000
X 2000 0,2 20 000 200

88 176 000 17,6 1760000 17 600
13 26 000 2,6 260 000 2600

83 166 000 16,6 1660000 16 600
76 152 000 15,2 1520000 15200
11 22 000 2,2 220000 2200

+ 2000 0,2 0,02 0,0002
57 0,0285 285 2 850 285 000
36 0,018 180 1800 180 000
85 0,0425 425 4 250 425 000
75 0,0375 375 3750 375000
5 0,0025 25 250 25000

+ 7 000 0,07 0,0007 70

84 0,012 1200 120 000 1,2

87 0,01242857 | 242,8571428€4 285,7142857% 1,24285714
24 0,00342857 |342,85714286|4 285,7142857| 0,34285714
56 0,008 800 80 000 0,8

64 0,00914286 |914,28571429]|1 428,5714285| 0,91428571
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